EARAZROREIERT — 2 N—XBISY —F 2016511 H29H (X)) 14EKFH3H

m"fﬁ%—ﬂﬁ C1A+ ‘ (%E] W ‘ (mEsm] — | 4 (B) 12000 B
[A&4£] 1 7% :1,500,000 @ ~ 23 :600,000 33%&:375,000  ~ 43#&:225,000 . 5 3% :150,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
THES Ty F o4 | BB 1:(1_5).4 55 [38.1] — | 1 | 483 é_%%? (k)
R:y07% B:IF772-Yar 2 len77-n
1/ [ o5 allliE 15, . 6| — SFEHARR (KH#)
hITFXREL YD "8 (17?74) & |%e ° ?_Sig 5 4 IEIES
LY LTAN—t B:FLFALTLR DO LG
— 275 . — — 4
Fbv34Omy H o4 gg#;&* 1.(125>.a 66 | 38.1 2 3&316) E(gugﬁgtw
R:wh>zry B:T74X7 TJ7=Z—klNT7—L
. BHEAH : - — HEE (KH)
Ay FT—JL R 3 o] 1}1&? 4-4 38.7 3 51_734) m};ﬁm
LY AL NFq—Ib B:RyF I 2HA IR IE
B4 | BREBIESE 1:16.1 3-3 39.2| — 8 467 | BEERRIK (KH)
507/ 8| XXV 1 F 56.0 (1 3/4) 7y | EREE
LTIVTFNTL2 BIRY—KFH fut e ]
S S RHIER :16. - . — IemEErR (K3H)
6l8l9 JLqa 77Oy YL # 3 Y0 1(136)7 9-8 38.9 4 (4+721) 5 7?—|~~I—Z
L:Zgr T bt —T7—K-—FK B:7HET7+>7-X B —H
N 4t 3 | KEEZ 1:17.0 10-10 | 38.4| — 9 466 | RITTR (KH)
7 3 TLyF 56.0 (11/2) (-4) ;m%f?ﬁ
L:ZY T b=y —FK—F B:Ixk—a21— "= %
o HEIBThIR : - — BERALE (KH)
8l5l5|7OE Y~ 3 ol 171{:5) 1-1 40.4 10 <4+810) A
ARG 55 B TUENT—X 75> Fiis
= s _ = 4 3 | REME 1:17.1 2-2 40.4| — 7 478 | BIRE (K¥H)
9|77 A—oJ—KR—7— ¥¢53.0 (1/2) 1) G| BE
RixAaRk—5— BT AIRK/H =i BB
. sy S w8 E 7. = . — AEfE= (KH#)
10/ 8110 AR 1% i 2 9 ¥¢55.0 (12117/26) e %.8 6 (4_813) EHEE
L:a=/FX¥LLy b BiINE T2 =Y Typ—L
® 1—F—@EBIERL
13—7-—
2a=5"=
Ja=5= 5,7,8,2,4,1,10,6,9,3
43—+ — 5,7,8,2,4,1,6,9,10,3
[ N5
B 4 260M 714K 4-6 510 e E 4-6 1,090M JEE 1-4-6 1,440H
B B 4 1204 1-4 240M e B 4-6 2,000 JEE 4-6-1 6,880
6 220M 1-6 610M B & 4-6 1,440
1 140 B HE 4-6 2,240

ABICOVWTRDTEEERROODE. TR LIV,



